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SERMO TiRICHEET S ZER A
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&5 X 4 r:né; ‘Fim(l;)o)ﬁﬁﬁﬁ 73(&3:?)3 X 4 Tlﬁﬁégzgfﬁ .?n‘c; jj(ﬁ?tn%‘r)é X 4 .(Er,na)k J:m;b(a)a)tt.s. jj(ﬁ?tf)é X 4 J:m;ﬁ(l;)(bttra rzjn? jj(giicf)é
7 100kN/mM%E#BZ 5 — - ~ — —|3mZiBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3mZEBZ D -~ — — —
s 1.00 | 000 ~ 617 77.39 | Fhs | ooo ~ 617|280 15.00 Thlst 1.00 | 6.00 ~ 1150 77.39 | RS | 6.00 ~ 1150| 2.80 15.00
2 100kN/mM%#BZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#8Z% — - ~ — — |3m%iBZ B - ~ — — —
s 1.00 | 000 ~ 6.17 77.45 | TnLSY | 000 ~ 617|280 14.99 Thst 1.00 | 6.00 ~ 1150 77.45 | TR | 6.00 ~ 1150 2.80 14.99
3 100kN/mM%E{BZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#8Z.% — - ~ — — |3m%iBZ D - ~ — — —
st 1.00 | 000 ~ 6.17 77.45 | TnLSY | 000 ~ 617|280 14.99 Thst 1.00 | 6.00 ~ 1150 7745 | TR | 6.00 ~ 1150| 2.80 14.99
4 100kN/mM%E#BZ % — - ~ — — |3mZi#B&xB| 000 ~ 0.18| 3.21 17.19 | 100kN/m#%#BZ% — - ~ — — | 3mZE#BZB| 1000 ~ 11.91| 8.21 1719
ZhLst 1.00 | 000 ~ 424 53.04 | Tns | 018 ~ 4.24 | 3.00 16.05 zhLst 1.00 | 5.00 ~ 1191 53.04 | FnLS | 5,00 ~ 1000\ 3.00 16.05
5 100kN/m%z#Z5| 100|000 ~ 045| 10662 |3m&EEZB| — ~ — — — | 100kN/m%#25 | 1.00 | 1058 ~ 11.80| 106.62 |3mE#BZS -~ — — —
s 1.00 | 045 ~ 823 100.00 | =nhist | ooo ~ 823|224 11.98 Thst 1.00 | 6.00 ~ 1058 100.00 | =nLst | 6,00 ~ 1180 2.24 11.98
p 100kN/mM%EBZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#B %% — - ~ — — |3m%iBZ B - ~ — — —
s 1.00 | 000 ~ 7.72 99.00 | #nS | 000 ~ 7.72 | 2.46 13.17 Thst 1.00 | 6.00 ~ 1167 99.00 | =n4 | 5,00 ~ 11.67| 2.46 1317
7 100kN/mM%E{BZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#BZ.% — - ~ — — |3m%iBZ D - ~ — — —
ThLst 1.00 | 000 ~ 7.72 99.00 | =nst | 0.oo ~ 772 2.00 10.68 Zhst 1.00 | 6.00 ~ 1167 99.00 | =nst | 5,00 ~ 11.67] 2.00 10.68
g 100kN/MZ#8Z % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8 %% — - ~ — — |3m%EEZ 5 - ~ — — —
FhLst 1.00 | 0.00 ~ 6.36 79.99 | ThS | 000 ~ 636|202 10.80 zhst 1.00 | 6.00 ~ 864 79.99 | #nS | 6.00 ~ 864 202 10.80
9 100kN/MZ#2Z % — - ~ — — |3mEBRB| — ~ — — — | 100kN/mM%#8Z % — - ~ — — |3m%EHEZ S - ~ — — —
ZhLst 1.00 | 0.00 ~ 6.36 79.99 | EnS | 000 ~ 636|202 10.80 FhLst 1.00 | 6.00 ~ 864 79.99 | #nS | 6.00 ~ 864 2.02 10.80
10 100kN/mM%Z#825 | 1.00 | 000 ~ 0.71 110.52 |3m&BAB| — ~ — — — | 100kN/m%#BZ% | 1.00 | 1055 ~ 1262 110.52 |3m%EiBZ% - ~ — — —
Thilst 100071 ~ 849 | 100.00| Fhbs | 000 ~ 849 2.16 11.64 TnLst 100 5600 ~ 1055 100.00| FnLSt | 5,00 ~ 1262 2.16 11.54
11 100kN/m%Z#825 | 1.00 | 000 ~ 081 112,13 |3mZE#BAB| — ~ — — — | 100kN/m%#BZ2% | 1.00 | 1053 ~ 1290 11213 |3m%Ei#BZ% - ~ — — —
Thilst 1001081 ~ 860\ 100.00| FhLs | 000 ~ 860 2.20 11.75 TnLst 100 56.00 ~ 1053 100.00| FnLS | 5,00 ~ 1290 2.20 11.75
19 100kN/mMZ#825 | 1.00 | 000 ~ 081 112,13 |3m&#BAB| — ~ — — — | 100kN/m%#BZ% | 1.00 | 1053 ~ 1290 11213 |3m%Ei#BZ% - ~ — — —
Thilst 1001081 ~ 860\ 100.00| FhLs | 0oo ~ 860 2.20 11.75 TnLst 1.00 ] 56.00 ~ 1053 100.00| Fnbs | 5,00 ~ 1290 2.20 11.75
13 100kN/mZ#825 | 1.00 | 000 ~ 081 112.06 |3mZE#BAB| — ~ — — — | 100kN/m%#BZ% | 1.00 | 1054 ~ 1288 112.06 |3m%EiBZ% - ~ — — —
Thilst 1001081 ~ 859 | 100.00| ThL4 | 000 ~ 859|221 11.84 TnLst 100 500 ~ 1054 100.00 | ThLS | 5,00 ~ 1288 2.21 11.84
14 100kN/m%Z#Bz25% | 1.00 000 ~ 035\ 10517 |3mExB2B| — ~ — — — | 100kN/m%E#8z25 | 1.00 | 11.12 ~ 1209 105.17 |3mEHEZS - ~ — — —
Thilst 100|035 ~ 814 100.00 | #hst | 000 ~ 814 1.92 10.27 TnLst 100 5600 ~ 1112 100.00 | #nLst | 65,00 ~ 1209 1.92 10.27
15 100kN/m%#82% | 1.00 | 000 ~ 042\ 10621 |3mx#Bz25| — ~ — — — | 100kN/m%#BZ2% | 1.00 | 1053 ~ 11.68| 106.21 |3m%EiBZ% - ~ — — —
ThLst 1.00 | 042 ~ 821 100.00 | =hst | 0oo ~ 821|178 9.562 FhLst 1.00 | 6.00 ~ 1053 100.00 | #hst | 6.00 ~ 1168| 1.78 9.562
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&5 X 4 Er%:né)( ‘Fﬁb\(i)@ﬁﬁ%ﬁ 73(:?5%3 X 4 Tﬁﬁé\ézg;kzﬁ ‘(.%.;12‘;& jj(ﬁ?tn%‘r)é X 4 ;.é,r‘na)k J:ﬁﬁ‘ﬁ?b\(i)a)tt% jj(&?tf)é X 4 J:ﬁﬁ;ﬁ\(i)())tt?%‘ ‘(r%r‘n? jj(giicf)é
16 100kN/m%z#Z5| 100|000 ~ 042 10621 |3m&EEZB| — ~ — — — | 100kN/m%#25 | 1.00 | 1053 ~ 11.68| 106.21 |3m&E#BZ5 -~ — — —
s 1.00 | 042 ~ 821 100.00 | =hst | ooo ~ 821|219 11.74 Thlst 1.00 | 6.00 ~ 1053 100.00 | =nLSt | 6.00 ~ 1168|219 11.74
17 100kN/mM%#BZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#8Z% — - ~ — — |3m%iBZ B - ~ — — —
s 1.00 | 0.00 ~ 6.69 84.44 | FnS | 000 ~ 669 | 1.82 9.76 Thst 1.00 | .00 ~ 817 84.44 | =hs | 5,00 ~ 817 1.82 9.76
18 100kN/mM%E{BZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#8Z.% — - ~ — — |3m%iBZ D - ~ — — —
st 1.00 | 0.00 ~ 7.09 90.00 | #nhst | 0.00 ~ 7.09 | 1.80 9.61 Thst 1.00 | 6.00 ~ 892 90.00 | =ns | 5.00 ~ 892 1.80 9.61
19 100kN/mM%E#BZ % — - ~ — —|3mZEiBZB| — ~ — — — | 100kN/m%#8Z% — - ~ — — |3ImEBZ D -~ — — —
ZhLst 1.00 | 000 ~ 712 90.50 | =nst | 0.00 ~ 0.00| 1.69 9.02 zhLst 1.00 | .00 ~ 912 90.50 | #nLst | 5,00 ~ 9.12| 1.69 9.02
20 100kN/mM%E#BZ % — - ~ — —|3mZEiBZB| — ~ — — — | 100kN/m%#BZ% — - ~ — — |3mZEBZ D -~ — — —
s 1.00 | 0.00 ~ 528 65.80 | FnLSY | 0.00 ~ 0.00| 1.62 8.67 Thst 1.00 | 6.00 ~ 56.90 65.80 | =nhLSt | 6,00 ~ 590\ 1.62 867
21 100kN/mM%EBZ % — - ~ — — |3mEBZB| — ~ — — — | 100kN/m%#B %% — - ~ — — |3m%iBZ B - ~ — — —
s 1.00 | 0.00 ~ 476 59.31 | #nRS | 000 ~ 4.76 | 1.77 947 Thst 1.00 | 6.00 ~ 56.00 59.31 | =hH | 5.00 ~ 6.00)| 1.77 947
100kN/mM%E{BZ % ~ ImERBAD ~ 100kN/ m#%#8% % ~ ImEEAD ~
zhsn ~ ZFnLst ~ ZznLst ~ Zzhust ~
100kN/MZ#8Z % ~ 3mEERD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ ZFnLst ~ ZFnLst ~ Zhust ~
100kN/MZ#2Z % ~ 3ImEBRD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhs ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/M%#8Z % ~ 3mEERD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/MZ#2 2 % ~ 3ImEERD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ znLst ~ ZznLst ~ Zzhust ~
100kN/MZ#22 % ~ 3mEERD ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thilst ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/mMZ#8 2 % ~ 3mEBR D ~ 100kN/ Mm%z 5 ~ ImERZD ~
Thsn ~ ZznLst ~ ZznLst ~ Zzhust ~
100kN/MZ#22 % ~ 3mEBRD ~ 100kN/mM%E# 25 ~ ImERZD ~
zhsn ~ znLst ~ ZznLst ~ Zhust ~
100kN/MZ#82 % ~ 3mEERD ~ 100kN/ Mm%z 5 ~ ImERZD ~
zhsn ~ ZznLst ~ ZznLst ~ Zhust ~




